hiz)

y=2x+13 A=

A

d

<H7|> & 7

©
=]

o

L=

1
© §x+1

O y=2(x+3)

@ y=-2x+1

Do 06 ®0.0 6000

©a

2 Ay =2x+ 13

=




2. A (4,5 2 AA 3x -4y -2 =0 Ato]2] AEE F5HH?

®-1 @0 ® 1 @)2 ® 3

B

4—4.5—
Ag g =B 252

324+ (-4)2

1
— == )
)




= A A(1,2), B(3,4
Ao xBUT y A L7

fu
o
)

Ze Al g A P7t e 4

®-10 @4 B0 @5 G

B \
P(x, y) 2 5t AP = BP
= AP =BP olnz
(x=-12+0-2?2=(x-3>+0-4)?
y=-x+5
wtebA] x B HL 5, y WL 50},
L 54+5=10




)

= WA x2 +y2 4+ 2x-8y—-8 = 0 o] Y= ¥o] A xE
(a, b) , FEAF2 Zolg rolgt S W, a+b+r 2 27

e @17 @s @ 9 ® 10

P 22+ +2x -8y -8 =02 Fstd
(x+1)* + (y=-4)* =5 °Jth.

mbA A 52 4y2 4 2x—8y—8 = 0 ©] LHERE 9] S
HEE (-1, 4) ol W] Dol 5 olt.

a+b+r=8




A A(-11), B(2,-3), Clkk—1)°] &2 Hagle] ==
ke g Tohe?

1 2
°o; @ o

> w
|
|
©
ol o

B

Al o] 22 A Aol o= 71717F LA sfoF .
= BC9| 7]&7]=AB9| 7|7
k-1+3 -3-1
k-2 2-(-1)
2
7

= k=




6.

ac <0, be>0 4 o, AR} ax + by + ¢ = 0 ©] HEHY
A 2] o= AFRA-E Fotol ),

LS
g

b#0 0|2
a C
y _l;x_EWC_D

ac <0, be>0°A ac-bc <0
Soabct <0 Z,ab<0

ab<0WH:4%ﬂ—g>o
M>0ﬂﬁy€%—g<o
et Qo A 2 AHREE AL gt




A 242 = 13 o5, yHOR SR R Yol S A4 y = mx

a
S, mo g2? (F,a>0,b>0)

S
SR
[\

S)

[\
N
&

thS 197 Zo] AB o] F4L A
a b - =
D <§, 5) &t 51 d B(.b) 7"
AOAD = AOBD°|E= A4 y = mx D(ﬁ g)
7} 7 D2 L}k g}, 2" 2
b , 0 A@0)
_2_»b DA z
m a= a b
2




AFAA A ax+ by +4 = 0 7H219] A7t V2 A ] @2 4 52
ghe b

o1 ©@s ®3v2 @ 4 ® 2v3

B

23 (0, 0) oA A4 ax+ by +4 =0 7429
A7t V2 0lB R

lax0+bx0+4 4 V2

NE+ R NETR

4=V2Va®+ b2 > 2(a®>+b*) =16
L a?+bt=8




A(0,-2),B(3,3),C(4,0) 1 AABC 9] Wo]=7?

o6 @ ® 8 @ 9 ® 10

B

BC= /(4-3)2+(0-3)% = V10
E, A4 BCO B2 3x+y-12=0°|2%
A(0,-2) 278 24 BCofl Hdl 4e] T-& Het sh

o l2-12 1
V112 V10

AABCZ%-%-EZ7




10.

a2 +y? +4x-10y+28 =09 SAHL A 4, -1)= A5Y

2HOoE otz 9o WAHAS (x—a)* + (y-b)? = rFolgt &

a+b+r?o g7

® 13 @ 15 A 17 @ 19 )21

~&B

x24+y2 +4x—10y+28 =0
= (x+2)2%+@-52%=1

Lat+b4r?=21

s Aok Ae (-2, 5)%k (4, 1) & NS F B2 B
oct.
ol ge 30l (2 2ol — g




11.

_IE
2

=
_l’_

[\

il Jx—y-—a+b=00°] x5 ¥
o]Fily dWol 4 4w, a+ b O] F= F5tet

HFSF

g7 45° 9

=

tlo

y=(a+2)x—a+b A
71&7l=a+2=tan45° =1

SLoa=-—1
yEH -a+b=4
L b=3

at+b=2




~ln

=1

| 2 Aol A (8,-3)= A=z

)

n

o

s

or

,_._m_o

N

=

A

-

o
®© 5 @

T <
— ,vIA_u 1 — |
I ,_HH I Il
=l N s —Is
N I N
+ Moy T
wis lF v, Q@

1
2
. (4b+3)(b-1)

1 8 x b—gzloﬂfﬂ

o

olA= @l
4b*-b-3=0

0




D x*4+y2-2x-4y-7=0
@ x®+y?+4x+8y-15=0
@ x*4+y2-2x-6y-5=0
@ x> +y>+4x+8+15=0
@x2—|—y2—4x—6y—7=()

o

il REIb =
= /(2-6)2+(3-52=2+5
Ao AL (x-2)2 + (y-3)% = (2V5)?
= x2+)?-4dx-6y-7=0




